% 24 & JEIEESRIKRAM

244 U9 ABRDEMIE
24.5 WY A&

F—T—F . DT HEOEMNE, VT HE

FEEE VI HROERDE, VI HREZFAHETES,
VI HABEDXRENZEROHIENTES,




6 09 &K

640?&&@%%@
= Iy + Ipa sin(wt + 01) + Lo sin(2wt + 0s) +
L
1] = \/ / T
1] = /I + L + | L2 +
sIE BA
i(t)* = (Io + Ly sin(wt 4+ 01) + Lnosin(2wt + 05) + -+ +)

X (Ig + Iy sin(wt + 01) + Lo sin(2wt + 65) +
= (Ig -+ Igﬂ_ Sinz(wt +61) + [q%;,:z sin2(2wt +602) + - - )
+21o (L1 sin(wt + 601) + Lo sin(2wt +602) + -+ - )
+21,,1 sin(wt + 01) (Lo sin(2wt +601) + - - +)



T cos 2wt = cos® wt — sin?® wt
T—/ [g dt:]g‘ =1 — 2sin® wt
0
5 1 — cos 2wt

= sin” wt =

| 2
Mf/ I:  sin”(nwt + 0,,) dt
0

T
1 2 mn

2
— ‘mn 1 — cos2(nwt +6,,)) dt = = |I,,|?
2T J, (1 — cos2(nwt +8,,)) (\/5> 1

t ot =JAN
T / Io 1y sin(nwt + 6,) dt =0 4 sin DIF7E 0
0

1 T
T / Lop Ionis sin(hwt + 0p) sin(kwt + 05) dt =0 (h # k)
0

ST
LIRS ETES sin BT DFER L0




1 /7
n / Lni Iing sin(hwt + 0y,) sin(kwt + 6y) dt
0

_ _dmnlmk /T cos((h + k)wt + (04 + 01)) — cos((h — k)wt + (0, — O)) dt
0

2T
Ian I L.
_ ;LT k {h iy [sin((h + k)wt + (0 + Hk))]g
1 :
TR [sin((h — k)wt + (0, — ek:))]g}
LonIoe [ 1 .
= Ll {h - {sin((h -+ )T + (00 + 04)) — sin(0 + 00))
= 27
- {sin((h — k)wT + (0, — 6)) — sin(fy — 0 N
h—'—k‘l L\ ) T \Vh K)) \Vh Iﬂij
= 27
Imhlmk 1 . :
T [h "y {sin((h + k)27 + (0n + 0k)) — sin(0y + 0) }

= Sin(@h —+ Qk)

{sin((h — k)27 + (05, — 03)) — sin(6;, — 0;)}
— Sin(@h + Hk)

1
h+Ek




1 [F 1 [T
f/ i(t)* dt = f/ (Ig + 1,1 sin®(wt + 01) + I5sin” (2wt + 02) + -+ -)
0 0

+21o (L sin{wt + 01) + Ly sin(2wt +02) + -+ +)
+21,,1 sin(wt + 01) (Lo sin(2wt +601) + - - )

I2 I?
—J2 4 ml , "Tm2 ,
o+ 5 + 5 +

=I5 + (Ii\/§1)2+(li\/§)2+---

:[12 :[22

&2 T

1] =\ 1012 + B2+



30°)
in(2t +

2s

s 30°) +2v/2

[ 151l =8 34.\/5 i

v(t) =

60°)
in(4t —
°) +v/2sin
. \/5“/2’ — 30 )—I—_’V4’
: V2 sin (3t o
| by ’
:—\/§yv1 \/5"/3
V1| =
Vol =
V3| =
Vil =
&£oT

‘/ — ‘/] —I— ‘/ 2 _I_ ‘/ 2 | ‘/ 2
’ ‘
|

5
2:
122 41

2

V42 4+ 2




24 FEIFFHIRATH \
24.5 B FEHIR-VF H3H

i(t) = Io + Iy sin(wt — 01) + Lo sin(2wt — 03) + - - -

I, I,
11:—1 ]2:—2

V2 V2

FHE |1 \/%foT";2 dt B+ I+

T,. T ,.
IME T Jo lil dt + Jo il dt

X
W
|
1|
i<l

m I,

I, I
= —— _Im , _
o =HiE M JiTea VEEIRE

O 75 — EERBROEIE L+ LR+
TTOEREOEMSE 7]




F 5% i(t) = I, sinwt 7

I?TL
SRR = 2 = 1 — 111
- e e [m
I&I%" :7—;—:\/5:141
V2
0




7‘7_’}25& I (O <t< Z) Im ---------------
() = m 2
1) —1 (Z <t < T) m T
m 2 .
0
%7 Im, B
/J-'X-'H'Z’ = — 'j:— = fm —————————————————————
= Y% [fm
/J-'X-'I%’ = — ‘j— = 1

8 1 1
i(t) = ffm (sint—{— gsin3t+ gsin5t+--->

VT HER = \/<3_b§>2+_(ﬁ>2+ _ \/(%)2+1(%)2+...

oo

4

Q| =



[ 5IRE 31.2 ]
v(t) = 4v/2sin(t — 30°) + 2v2sin(2t + 30°)

= \/5]‘/1’ = \/5“/2’
+2v/2sin(3t — 30°) 4 v/2sin(4t — 60°)
A = V2|V
VT HE
L VIVal? + V32 + |Vy?
Vi
V22422412 3
4 4

10



% 24 & JEIEESRIKRAM

244 U9 ABRDEMIE
24.5 WY A&

F—T—F . DT HEOEMNE, VT HE

FEEE VI HROERDE, VI HREZFAHETES,
ENERDHHIENTED,

U9 HIRDIME

11



